1. The molar absorption coefficient of human hemoglobin (molecular weight
64,000) is 532 dm?/(cm*mol) at 440 nm. A solution of hemoglobin in a
cuvette having a light path of 1 cm was found at that wavelength to have a
transmittance of 76.7%. Calculate the concentration in g/dm?3.
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2. A10puMsolutionof asubstance gave an absorbance of 0.0438 with a light

path of 1 cm. Calculate the molar absorption coefficient.
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3. Inthe Blamer series of the hydrogen atom, the first line is observed at 656.3
nm. What is the energy of light emitted at this line by one mol of H-atoms? .
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